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eSSl 55
Vocabulary and Grammar

Read the followine incomplete sentences carefully and decide which (a), (b), (C),
or ((d) best fits each blank space. Then mark your answer sheet.

91 - The meeting was supposed to be hold today but was delayed at.............. of
the members.

1 - request
2 - struggle
3 —direction
4 - selection

92- bur flight is at 7:00 PM, but we should be at the airport an hour sooner for
sport ......... :

1 - application

2 - evaluation

3 -investigation

4 - inspection

93 - oday, almost all the world nations are......... terrorism in one way or another
1 - interrupted by

2 - regulated by

3 - suffering from

4 - detached from

94 - r. Benson is retired, and he has to live on his ...... which he does not think is
1 - wages

2 - pension



3 —salary

4- possession

95 - ouldn't call my trip to London a vacation, because | was.... In my brothers
most of the time as he didn't have any time to show me around.

1 - tayed

2 - trapped
3 -

4 - remained

96 - hough the flight attendants and the captain apologized for the late departure,
some passengers were still..... .

1 - nxious
2 - desperate
3- rious
4 — distracted

97 -This bank account can help you with any kind and number of business activies.
but you're charged a fixed amount of money on each...... .

1-trade

2 - bargain

3 - procedure

4 - transaction

98 - A: Almost all the questions in the exam were...., weren't they?

B: Well we never expected Mr. James to make it easy for everyone of us to pass.
1 - tough

2 - dense

3 —ruthless



4 - intensive

99 - Mr. Norman never stops trying to reach his goal after he has made up his
mind about it. He is a man of great.... .

1 - fortunate

2 - determination
3 —intention

4 - dominance

100 - Although Anna is quite a young woman, she feels really old because she .....
all through her life.

1 - works

2 - is working

3 - has been working
4 - would work.

101- A desert is usually described as a region .... an average of less than ten of
rain falls in a year.

1- inthat
2 - for which
3 - whereis
4 - in which

102 - Both Ted and Jack had got the right answer to the teacher's question. But
..... of them could clearly convey it.

1 —neither

2 - each

3 —both

4 - none

103 - Teachers' punctuality is ..... noticed and appreciated in this language school.

1 - neither



2 - either
3 - not only
4 - both

104 - One of the planets revolving around the sun is our earth which .... to be
25000 miles in circumference.

1- has said
2 - says

3 - is said

4 —is saying

105 — A:l haven't seen your brothers, and | don't know what he ..... .
B: He pretty tall with green eyes and short, blonde hair.
1 —likes
2 —is like
3 —would like
4 —looks like
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